£ A B REE RN E1088 5% =

BN BB R P P R E RS

N A N .| %
s %Z /\‘él:‘ HE i 4

14

* AREEF AT AARERRABNBES  ARARBAIR

g

—  BEERE  (ERE 25 3£209))

(%)L¢W%%%ﬁ%ﬂﬁﬁum&
RABWER £IET 208 24
Bl Atk R 32| FEHE 630 AR
EONE 0 FESDEM?
O1 % 30% @15 20%
@l 108 @1 54

( )) 2 F@H— M aA a4
FiTehdm 9
OkF#E OwAsH#k
@OQEF#E @E*

( )3 aef b FTF  Ae
D4EITT 488 B F 0 Bl 1 4
S84T T 62 1AF » EITIF LI
B ?
ORE @A
OmEA—HE @&k

(%)4%@%%%%&%3&£’¢
BILT 15 548 REIET 23
a4E 0 EIIET 30 b ke
ik R R 1g 7
Oh OkK
@£ @&k

(\)5%%%@%ié?mﬁ%%’
B iEsE R AR S —
e E@mMEw T B 0 HR—FEAE
ROy B A =% R R ?

o0

&

&

OF @z ®" @OT

C(])6.

(l)&

(o

( k)lO.

ToA—BESRENE > &
P @ ZA8 AT 6 @ A & 9
q?
z| m [T &
(@)

Oza @A®
Ox@m @@

7 .9
T RESAR MK B TGN

D)( %—A—(*’
FoE 1 ARMMEAR &
5V ? ) BEAE 8 B

HXAMT?
9 7 79
1075 @5710
9 7 9 5
®10 5 @1077
WAEF LSS AR XEE
A 62 AR H AR R

B 7 vy A 0 12 4-484% T A4
i N

84 AR @65 R

®56 »R @48 ™R

JJx 30 4487 & 4000 % > F
BMEH K ST A kAR
BRAESVNET?

(102.28 NE/8BF2@4.56 /)2 /0F
®7.6 XE/8F @760 N2 /8%
FE¥F -~ -A3ERE ES
WH 10 N B FETF A
3 ~THB AN AHS
I BERERIRRKREH a LK
Db LT N e AL N
R F 34T 4 B 7 7

Ma+b=c

@a+b<c

®a+b+c=1500




1.2
121—17
_ 1A
_ »S//l = \o'g
S
2. (02+)x(10z+14.2)
:(%2)( L 5
N SUH
3.7.5
3'4§T|1176
=S
= R "9 is |
S SR
- R 8% 7%y
4.3ZXE+0.9
_ 15, ¥ o ]
— Ex/s X =
= T
4 51
g g AT
= 7% - (/\"ﬁ}) ’
s J fas
o 35" 3 o ) [ ©
4 2 8 4
6.5@5—?55 7
_ [/ S &
— 7 )(} _ 7%7
2 4.
ot % 7 i
7.1.25%g+1.5
S S e
RS
. &2 7

CEPEE (22 145

L,

4.
5.

CHEAE (181450 1847
TaA—EkFE - GAEHEXTFT)

H G
i/j' 5Y
e A
//$ <

A B N
(D@ Faitai( é)o
Q)zmiRmmEa (S ) e
(@L@;ﬁwa@%ﬁa%ﬁﬁﬂ o

CFEA—ERA - %xj

(Bt 29)
(D—mEa#A2( S DHer

O @EADZEOLT DEF Ay -
Gl fEEseyxmE A Z(
B N %MLO)

TaX—EBRIR BToIAER

wEma(  DEi > ZlePANA
( )EEQ

‘ ¥ |
£ |

.

<
i

-
A

( ve (Oes

( Nma ()Des

BFiR 120 N E/BF=( D000 ) NR/ %
PRk 8S5S AR=5R( ¢ (0)AR=
ik (0. hAE

6. TRABIAS I KT m 25 ) Ay 0 2 2.6 $01%

B4 2600 N ROR & H 5 4R R 89 ®)
T RBETEKPEE SRR



THRRARE R ELEA 150 NE > Eth
BHE &8 2 1.5 NEF o B R A B
WIEREE 20 EEFIBIHEH R
Wy PHekmE( 7> INE -

810 AR/B=( 5, [, VAE/

9. 46 3 ZHotEATE S 0 S LT 9 B E]
F4 108510 50— & T 4970 N R
ket 7/ IR

10. }A 40 B & L 3E - BFag R 40 N E 0 KK
BB NG TR A5 sk MIEE
A wsERER( 2 J)NE -

PO - FEFIRE SRR 457 0 448 4))

1. ko B > J& & AT w9 I 94X AR AR AR

5D IF AT

3
zﬁf@%ﬁ’%gaﬁﬁﬁ~ﬁ%
oo IR, 14 R s > BT 0.25
NR BT BRASRY
>
'Y

X/(7L 'f'O‘)ﬂﬁ

_ 78T

A‘/ (& XS

3. BN E IR AR 13 N E/
B B FHIBRAATEI CH ) ET 2
JNBE 0 F s TRhAREE 36 2 0 4K
T RRAE S Y NE?

3¢ 72 =/&

2 =172 85

= X km//yz‘ |
A' 7

4, F #1200 NRE 40 #0 T3 100 R
FOASHF o ERBARFREME F i —
FAENE K BB RATHE 45 N

R? o3 Go:=s
[ “© “ ¥ = %

£ =/

Us 7 (zuS A’;ufiy
5.4 BBERAREZDAIFT AT
Qy\;—\';o)X(o;()’XJT
- m)x“’{
ol -
(o x OX 3, /%7257
= 3427

(yS P+ 27> = (of/ 75
aT@%%%%@ﬁk%%%&%ﬁN%“?

N\ A
a7




T.NFWILA 18 k4t » 224
6’ TP L A AR L SN FRB AR

%%’ﬁﬁﬁ%ﬁ§¢k? .
17 " *> 7 ¢9
= e :}QKQ

= >
A:/S’L/\

8. I G4 A S8 AR BB, E
62 N R > AR BRI MR e a8
N4EE R ASBIES DN R ?

(S8+¢>) X &

_ >0 X§
~ 7éo

A;l 7 é s WL

0. AW I T RER £ ISARMB &
Ko WET 3RS ek 12.8
RO T BAE TR ?

/A
Pl B

?;(?vg(//:A}

TR 3

10. 3858 Fv A £ 1230 > T8k F ok F
& 120 AR/ 548 > b B35 6 54815
RAE A R 69k F5€ 150
R/ 4E 0 R & nsEk 0 &
BB ?

[dox €= ]>0
[ §O~120 =z 4D

/7)/\):(%0

> 7 A;)AU%

11. A& 455 & AR IE 2800 AR > HiGEH
Wik A 65 MR/ k0 B ALY
BRRE TS AR/ p4E 0 AR ARG
B Aok aia?

IHe 5 = {4

>pro T /&
= ¥
ot

12305 e — R AR A T @60
o BAZARGORBHERE D ?
57512
13
18 = go

i I X

(BfL:2%) = /£ x 30
_sl¢o
f#o%éo
= bvvo
A;ém} Gt

/Ex§ + /8 X/3 F18x)>



